HAWORTH

Atwell

Service Instructions

Arm Frame Replacement - Side Chair

For assembly assistance, visit haworth.com, call 800 426 8562, or email support@haworth.com



HAWORTH Atwell Assembly Instructions

Tools Required

0 1/2 1
[ v

Scale1:1

Seat Removal

a ‘ (s54)
p ‘ Y
4 o]

~_~

5/16 x 3/4" Flat Head Screw 5/16-18 Lock Nut

A \Y)

f

5
&

Customer Service: 800426 8562 E.C.0.No 525-001 Part No 6100-0041 Rev 1 Page 2 of 5




HAWORTH Atwell Assembly Instructions

((S53) —
\ )

5/16 x 1/2" Serrated Flange Hex Bolt

O

5/16 x 3/4" Flat Head Screw

(S80) @ ‘&\\\\\\\\\\\\\\\\‘

| 1/4-20 x 1/2" Pan Head Screw

Leg Installation

(s53) —
\ /)

5/16 x 1/2" Serrated Flange Hex Bolt }

o

5/16 x 3/4" Flat Head Screw

(S80) @ ‘}&\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘

| 1/4-20 x 1/2" Pan Head Screw

Customer Service: 800426 8562 E.C.0.No 525-001 Part No 6100-0041 Rev 1 Page 3 of 5



HAWORTH
Tandem Leg Removal




HAWORTH

Back Installation

(579)

Ol

5/16 x 3/4" Flat Head Screw

Seat Installation

Atwell Assembly Instructions

(S5

=

Customer Service: 800426 8562 E.C.O.No 525-001

Part No 6100-0041

Rev

Page 5of 5



